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Review Problems for Differential Equations

E. L. Lady

xyy — 2y2 + 222 =0.
y' —y?sin?z = 22%y?.
(emg + ey2) yy' +e” (zy? —x) =0.

y' cos’z+3y—1=0.

3

3xcosy —y'e P siny +cosy = 0.

—213 + 3xy?y — 23e** = 0.
Y — 2 —8y=e"%".

y' + 4y + Ty = 5zx.

y" — vy’ — 20y = sin 3.
vy —ay —y+a®=0
xy —2y—x®>=0

22y + x> —y =0

2%y’ — y? — 2xy — 322 =0

zyy —2yy — 3y —x =0
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y'tany + 2%y sec? y + 2z tany + sec’ x = 0
y' — 4y +9y==x

y" — 10y + 25y = 3

v+ 4y +3y=e€"

y —2xy = 3x

(23 4+ 8)y —x*cos®y =0

x2y/ y/

2xIny +

zy — 2y =zt cosz

zt — 2zy® + 2yy’ =0
ny’—yQ—xy—f—éle =0
vy’ +vy +y=sin2z

y' =y =12y =7

Y’ — 522 —x2y2 =0.

3zyy’ — 4y +ay +222 =0

sin 3z + 5e°® sin y? + 2yy’e’® cosy? + 3 secdy = 0
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(2% +6)y’ + 8vy — 4z = 0.

e®cosy —y'e 3T siny + cosy = 0.

2 +yt —zyPy =0.
y" — 2y — 15y = e 3%,
y" + 6y + 14y = 62 + 2.
y' — 6y + 13y = ze” "
zy — 3y = zte®®

y// _ 8y' + 16y — J,‘Q

—9 /
—Sy—sin2x—|—y—2—|—yy’:0
X X

22y —y? —ay—422 =0
I ! 2 —

yy +xyy +y°+5=0

2y +y +3y+2=0

4. 7 2,/ 2 1

vy +ayy +xy +;:0

y”+4y'+10y:e?’”

y// . 6y' + 8y — e—59c
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Yy’ + 2y’ +y = sin 2z

y +ytanz = secw

/
ye® y + Y4 ry2e® 1223 =0
Y

y" =2y +3y =2z

y' =4y +dy =
ery/ +axy? + 25 =0
3e3% cos 2y + tan 2z — 2y
yy +4zyy —y* —1=0
xy —by—x® =0

y// . 6y' + 8y — xe2x

/eSx

sin2y =0



